National Testing Agency

Question Paper Name:
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId :

Section Number:

B Tech 30th Jan 2024 Shift 2 SET12
B. Tech

2024-01-30 21:01:59

180

300

Yes

B. Tech

1
40585912
0

180

No

No

300
No
Cant View

No

Mathematics Section A

40585962

1



Section type : Online
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Number of Questions : 20
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Clear Response: Yes
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Question Number : 1 Question Id : 4058591015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&
|

g o e (2x—1)
If the domain of the function f(x)=log = -

+m5_l| | s (a. B].
L /

x+3

Faa| I

AxT+x-3) x+2

then the value of 5p — 40 15 equal to
Options :

4058593231. 9

4058593232. 10

4058593233. 11

4058593234. 12

Question Number : 1 Question Id : 4058591015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

_— 2x+3 T S
af ,f'(.f):ungﬁh = J+ms—1 LE:JJWW{& B] . 1 5B — 4a T
\ X X - A

OH SE 5
Options:

4058593231. 9
4058593232. 10
4058593233. 11

4058593234, 12

Question Number : 2 Question Id : 4058591016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If z 1s a complex number. then the number of common roots of the

equations /7% + 7190 + 1 =0and 22 + 222 + 2z + 1 = 0. is equal to
Options :

4058593235. 0

4058593236. 1

| R}

4058593237.

4058593238. 3

Question Number : 2 Question Id : 4058591016 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afd ; Ue Qi T 8. d IHIEH0N 21985 + 100 - = o gyT
2422+ 27+1=0D FHIFE el &1 T 3

Options :

4058593235. 0

4058593236. 1

| ]

4058593237.

4058593238. 3

Question Number : 3 Question Id : 4058591017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
(x 0 0)
Let R={0 y 0]be anon-zero 3=3 matrix. where
0 0 zJ

2n 4 :
xsinf =y sin(H + = z5in[ 8] +TJ # 0, 8 € (0.2m). For a square matrix M., let
X gt G
trace (M) denote the sum of all the diagonal entries of M. Then. among the

statements:;
(I) Trace (R)=10

(IT) If trace (adj(adj(R))=0. then R has exactly one non-zero entry.

Options :

4058593239, Only (I) 1s true

4058593240, Only (II) 1s true



4058593241, Both (I) and (II) are true

4058593242, Neither (I) nor (II) is true

Question Number : 3 Question Id : 4058591017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
(x 0 0)
HFETR={0 y 0 ‘ 3+3 1 U YR HTUE ©. T8l
0 0 z)

LY 3 A
T N A T RN

(I) Trace(R)=20

' \
xsin0 = ysin (G + 2—11 = zsin( 0+ %J 0, 8 € (0.2). TH 7l Mg M P

(I1) TS trace (adj(adj(R))=0 B, Tl R &1 dad U 3add LI &

Options :

4058593239, 970 (1) qa e

4058593240, AT (1) TT©

4058593241, (1) TUT (I) &I 9 §

4058593242, 71 Al (1) T&T (1) ¥ §

Question Number : 4 Question Id : 4058591018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Consider the system of linear equations x +y +z=35,

a2 A . R ¥ i i S
x+2y+ i z=9,x+3y+iz=u. where . p € E. Then. which of the following
statement 13 NOT correct?

Options :

4058593243, System 1s consistent if A # 1 and p =13
4058593244, System is inconsistent if =1 and p £ 13
4058593245, System has unique solution if A= 1 and n = 13

4058593246, System has infinite number of solutions if L. =1 and p =13

Question Number : 4 Question Id : 4058591018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

%@EWWT_I___q x+2v+12z=0.x+3y+lz=p.
Sefh. e 5 . o R Sifou | 4 fre & 319 91 % 9 T8 2

Options :
4058593243, MO A BTG )2 1TUTu=138

4058593244, M TR UG =10 n 2 13§

4058593245, T B G BAR AR L2 1qU £ 138

4058593246, FPTI B HAATAC AIG A=1TU u=13 %

Question Number : 5 Question Id : 4058591019 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Suppose 2 —p. p. 2 — d. a are the coefficients of four consecutive terms in the

expansion of (1 + x)". Then the value of p? — o + 60 + 2p equals
Options:

4058593247. 6
4058593248. 4
4058593249. 8§

4058593250. 10

Question Number : 5 Question Id : 4058591019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M (1 +x)" & TR H IR SHFTG Ual & I0IH 2 —p.p. 2 —a. a8l dl
p? — o2 + 60+ 2p BT HF SIS ©

Options :

4058593247. 6

4058593248. 4

4058593249. §

4058593250. 10

Question Number : 6 Question Id : 4058591020 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

lﬂl

Let a and b be be two distinet positive real numbers. Let 11™ term of a GP. whose

tirst term 18 @ and third term is b. 18 equal to pth term of another GP. whose first
term 1s a and fifth term 1s b. Then p 1s equal to

Options :
4058593251. 21

4058593252, 20

4058593253. 24

| R}
i

4058593254.

Question Number : 6 Question Id : 4058591020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T o TUT b &1 T35 TS dRdid® T=AU & | AF1 U GP. o1 98dl Ug 4

USRI UE b 2. &7 119 U, UP 31T GP, (o109 USTl « U i9at Ug b 2.
F I T RSl p R o

Options :

4058593251. 21

4058593252, 20

4058593253, 24

| R}
i

4058593254.



Question Number : 7 Question Id : 4058591021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

¥ g o
Let f: % — {0} — = be a function satisfying f| %J = AL
e

/(v)

e

forall x, y, 1) £ 0. If
f'(1)=2024, then

Options :

4058593255, X/ ' (x) — 2024 flx)=10

4058593256, Xf ' (x) +2024 fix)=10

4058593257, X '(x) — 2023 filx)=10

4058593258, X ' (x) + flx) = 2024

Question Number : 7 Question Id : 4058591021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT BeF £ R {0} > R. G4 x. 3. fp) 2 0B foQ fﬁ]:
L
BAe | Al (1) =2024%. a1

Options :

#). 5
o) T

4058593255, X ' (x) — 2024 fix) =10
4058593256, Xf ' (x) 2024 fix)=0
4058593257, X "(x) — 2023 fix) =0

4058593258, X ' (x) + flx) = 2024



Question Number : 8 Question Id : 4058591022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a and b be real constants such that the function f'defined by

i :
wi= . o r

£ [x}= | x* +3x+a , x<I be differentiable on Z.. Then, the value of J f{x)dx
bx +2 e | Ty 7

equals

Options :

4058593259. 15/6
4058593260. 19/6
4058593261. 17

4058593262. 21

Question Number : 8 Question Id : 4058591022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

7] I 3R a 941 b 39 UBR & [P B

: - 7
f(x)= ; i : R R AGHAA G [ f(x)de PTHARIR §
i + 2 x> =2 -

Options :

4058593259. 15/6
4058593260. 19/6

4058593261. 17



4058593262. 21

Question Number : 9 Question Id : 4058591023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Lﬂﬁﬂ=£r+ﬂ3u—ﬂixEP44]HﬂhmdmmemﬂmmmmmamhmMmmn
values of f. respectively in [4. 4]. then the value of M —m 1s

Options :

4058593263. 600
4058593264. 392
4058593265. 608

4058593266. 108

Question Number : 9 Question Id : 4058591023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HATf(x) = (x + 3) (x - 2). x € [4. 4] €1 Tl £ P [4. 4] F Aeepca qur
gAdH O HHE M AT m 6. A M—m DTHA ©

Options :

4058593263. 600

4058593264. 392

4058593265. 608



4058593266. 108

Question Number : 10 Question Id : 4058591024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let £ : 2—7. be defined as flx) = ae™* + be* + cx. IFA0) =—1, f'(log.2) =21 and

Jdop 4 ! .
JU Be ( f‘{_f] ~ m—}f,{x o ij then the value of la + b + ¢| equals
: 2

Options :

4058593267. §
4058593268. 10
4058593269. 12

4058593270. 16

Question Number : 10 Question Id : 4058591024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I £: 25, flx) = ae™ + be® + ex GRIARYING 31 TS £0) =1,

log 4 _ i :
f'(log.2)=21dYl j‘ﬂ%f [f().) —cx)dx = '19 g.dl la+b+ec P HM R ©

Options :

4058593267. §

4058593268. 10



4058593269. 12

4058593270. 16

Question Number : 11 Question Id : 4058591025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For o. P € (0. w/2), let 3sm(a + ) = 2sm(o — P) and a real number & be such that
tan o = k tan p. Then, the value of & 1z equal to

Options :

4058593271. 2/3
4058593272, —2/3
4058593273. -5

4058593274. 5

Question Number : 11 Question Id : 4058591025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

a. B € (0, /2) & ToTU AT 3sin(a + B) = 2sin(a — ) § | AT U dR<dP T k
& MU tano=ktan pT1 TN &k PIAF WG T

Options :

4058593271. 2/3

4058593272, —2/3



4058593273. -5

4058593274 5

Question Number : 12 Question Id : 4058591026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let y = f{x) be a thrice differentiable function m (-5. 5). Let the tangents to the
curve y =f(x) at (1, f{1)) and (3. f{3)) make angles 7/6 and n/4. respectively with

positive x-axis. If 27 J [[f ' }] + l) £ "(¢)dt = & + 3 where o. P are integers, then
|
the value of a + p equals

Options:

| R}
h

4058593275.
4058593276. 36
4058593277. —14

4058593278. —16

Question Number : 12 Question Id : 4058591026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A BT y = fix). SR (-5, 5) A AR AT §1 HATTD y = flx) B
faigsif (1.11)) 7T (3. 3)) TR T9] 3T I -8 T /6 TUT /4 & HIT

K]

TR E 1A [ (7 (1))’ +1f};' "(()dt = a+ 3 B T8l o, pIUND 5. o+ P

ST A SR &
Options :



4058593275. 26
4058593276. 36
4058593277. —14

4058593278. —16

Question Number : 13 Question Id : 4058591027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
X

Let f: Z—7F. be a function defined by Fix)= ( e ;[‘4 )'f‘jf . and g(x) = AfARx)))).

245 ,
Then. g -" 2 g(x)ex 18 equal to
0

Options :

4058593279. 33
4058593280. 42
4058593281. 36

4058593282. 39

Question Number : 13 Question Id : 4058591027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X

O BeH £: 5—r (x)= (| +I4)If4 SR ORHTNE 8 9T e(x) = ARAAY)) B

Options :

4058593279. 33
4058593280. 4.2
4058593281. 36

4058593282. 39

Question Number : 14 Question Id : 4058591028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A(c. 0) and B(0. B) be the points on the line 5x + 7y = 50. Let the point P

divide the line segment 4B internally in the ratio 7:3. Let 3x—25=0be a
-

directrix of the ellipse E: 1—2 + ‘_2 =1 and the corresponding focus be S. If from S,
a

the perpendicular on the x-axis passes through P. then the length of the latus
rectum of E 1s equal to.

Options :

4058593283. 3

4058593284. 9

32
4058593285, 3

4058593286.



Question Number : 14 Question Id : 4058591028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HFITWW+71 =50 W {dg_4(c. 0) TUT B(O. B}%lWﬁ@PWWABﬁ
: 7:3 % U 4 dicdl ¢ | AT gHad £ X _+—: | 1T g 35— 25 =

D%aww:iﬁs%mﬁﬁgsér a{awaﬁ ﬁgp@ﬁﬂmﬁn?ﬂ% aE
Tifireid oftdr &1 d41s ©

Options :

4058593283. 3

4058593284, 9
4058593285.

4058593286, 9

Question Number : 15 Question Id : 4058591029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2 2
Let P be a point on the hyperbola f- % — f&_ — 1. in the first quadrant such that

the area of triangle formed by P and the two foci of His 24/13 . Then. the square of
the distance of P from the origin 1s



Options :

4058593287. 18

| ()
o

4058593288.
4058593289. 21

4058593290. 26

Question Number : 15 Question Id : 4058591029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
M1 fqRaay H;%_i}:] RUYH I H s Wg psaUaR e fb P

qYUT H 1 &l A H & P BT &A% 2./13 &l dl P! Id fdg 9 gl &
arle

Options:

4058593287. 18

| ]
=

4058593288.

4058593289. 21

| ()
h

4058593290.

Question Number : 16 Question Id : 4058591030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



i) i, . .
If x“ —y* + 2hxy + 2gx + 2fy + ¢ = 0 1s the locus of a point, which moves such that
iﬁsﬂwmmﬂwﬂmmmﬁﬂmﬂmhﬂﬁx— 2y+7=0and 2x —y + 8 = 0. then the
value of g + ¢ + h — fequals

Options :

4058593291. 6
4058593292. 8
4058593293, 14

4058593294 29

Question Number : 16 Question Id : 4058591030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i U fdg, ol 59 UPR Fe1dl ¢ b 5P @131 x + 2y + 7=0 Ul
-r—\+8—{]@§_ﬁw:{€?ﬂ%3ﬂ
gy 2 — 32 + 2y + 2gx + 25 +¢=08. 7l g+c+h—f PIAASRIER 3

Options :
4058593291. 6

4058593292. 8§

4058593293. 14

| )
L]

4058593294.

Question Number : 17 Question Id : 4058591031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
—» o~ I . ' Ay M
Let L ir=(i—j+2k)+0i-j+2k)Lhe R

—r ~ .ﬁ. -, .-\ o, 4 A A A
Ly:r ={_j—k}+u{3#+_j—pff],peﬂ'aﬂd Lj:r =8(li+mj+nk), 6eR

be three lines such that L, 1s perpendicular to L, and L 1s perpendicular to both L,

and L,. Then, the point which lies on L5 15

Options :

4058593295, (1. 7.—4)
4058593296, (—1. 7. 4)
4058593297, (1.-7. 4)

4058593298, (— 1-7.4)

Question Number : 17 Question Id : 4058591031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
L= * A e o o A M
HIH T © E@qLI:r:(f—j+2.1|rl.:]|+}-.,{.!;—j+2k},}'..EJFR‘

—r ~ ~ A t—_[u-l- o A A A .
Ly:r=(j—k)+p3i+j+pk)ueR: L3 cr=0(li+mj+nk), 6eR

SUYPR® [ L, TG L, P oqad & TUT L5 &l @Il L, GUT L, & Taad g
dfFE I P wfEg L, R e?

Options:
4058593295, (1. 7.—4)

4058593296, (—1. 7. 4)

4058593297, (1.-7. 4)



4058593298, (— 1-7.4)

Question Number : 18 Question Id : 4058591032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

— - = -
Let ; and J_;; be two vectors such that [ 4 (=] and | px 4 |=2 . Then

7
_>|—

=3 —%
|{bxa}—b

1s equal to

Options:

4058593299. 1

4058593300. 3

4058593301. 4

L

4058593302.

Question Number : 18 Question Id : 4058591032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT S 9= ) AUl SAVPR & [ ‘ 7

EX?}‘} —.2 %li_—ﬁ

=] ddl

| x| W=E
Options :

4058593299. 1

4058593300. 3



4058593301. 4

4058593302. 5

Question Number : 19 Question Id : 4058591033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let (; =i ’, +B k- o, pelR.Letavector F; be such that the angle between

"~

» o I
¢ axbh| 18

_; and ?: 15 % and |§|¢ g If :?: = 3‘,@. then the value of (uj _|_[_12)

equal to
Options :

4058593303. 75
4058593304. 90
4058593305. 85

4058593306. 95

Question Number : 19 Question Id : 4058591033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A g —Gva j+pk-o.Be REIHHITD W} SHUPREfH ) aqury

P S X g |;;|2 TR DT A (2 4p) " RR
g

Options :

» »
s b

4058593303. 75



4058593304. 90
4058593305. 85

4058593306. 95

Question Number : 20 Question Id : 4058591034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Bag A contains 3 white. 7 red balls and Bag B contains 3 white. 2 red balls. One
bag 1s selected at random and a ball is drawn from it. The probability of drawing
the ball from the bag A, if the ball drawn is white. 1s

Options :

4058593307. 1/4
4058593308. 1/3
4058593309. 1/9

4058593310. 3/10

Question Number : 20 Question Id : 4058591034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Id AT 3 g%g, 7T Tig duT ¥ B H 3 Tha, 2 @@ 7iG & | U Ul ATe a3yl
1 ST © TUT59H J U Tig (Haprell ot ¢ 1 afe fadre 715 i 9the 8. df
ST TE & UA A T FoTd o 31 widear g

Options :




4058593307. 1/4

4058593308. 1/3

4058593309. 1/9

4058593310. 3/10

Mathematics Section B

Section Id : 40585963
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 40585963
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 4058591035 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of symmetric relations defined on the set {1. 2. 3. 4} which are not
reflexive 1s



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 4058591035 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
GEEJ%{L 2. 3. 4) TR URYING U Hael, 5 99iid § R Wded el 6. d
T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 4058591036 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of real solutions of the equation x (.‘rj +3|x| +5]x — 1| + 6]x — 2” =0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 22 Question Id : 4058591036 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TEIBRT (32 +3|x| + 5| — 1|+ 6|x 2 = 0 F TP Tl T HBAT R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 4058591037 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an examination of Mathematics paper. there are 20 questions of equal marks and
the question paper 1s divided into three sections : 4. B and C. A student 1s required
to attempt total 15 questions taking at least 4 questions from each section. If
section 4 has § questions. section B has 6 questions and section C has 6 questions.
then the total number of ways a student can select 15 questions 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 23 Question Id : 4058591037 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U G316 H 70T & U=94 | a6 Bl & 20 TR & aUI U9 § dH TS -
4. B3R 31 U faendf &l od 15 =A & R &1 3. o0 s @5 &Y
A DHH4YHBH MU T WS AT S U, WS BH 6 A AU WS ¢ H 6 UH
©. dl T faendi gRT 15 U= T4 & il 31 oo G= 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 4058591038 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wid 32 w=l B B
Let fIZZ (”"k] Wandﬁ Z A . If 50 = 6p. then n equals

=0\ k+1 k=0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 4058591038 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
n

'(Hn 1 g=Lf Ber.” e %o
IFHT-::{:Z ( ’a'f] A- %Iﬁ5u=6ﬁé.mn
B=0\ k+1 k=0
WR S

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 4058591039 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let S, be the sum to n-terms of an arithmetic progression 3. 7. 11. .......

4 b
If 40< LL S, | <42, then n equals

(n+1) &5
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 4058591039 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT YA €1 3, 7. 11..... D YUH »n UGl 1A 5, §1 aiS

\1 5
e P s f* . AnERRs .
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 4058591040 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The area of the region enclosed by the parabola (y — 2)* =x — 1. the line x — 2y + 4
= () and the positive coordinate axes 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 4058591040 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TRAeH (3 —2)° =x— 1, Wl x - 2y + 4 = 0 TUT TP [T 31afl & foR &=
DI 4ABA B ,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 4058591041 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let Y= 1 X) be a curve lying in the first quadrant such that the area enclosed by
the line ¥—y =¥ (x)(X — x) and the co-ordinate axes, where (x. y) 1s any point on

)
27" (x)

Response Type : Numeric

the curve, is always +1,Y (1) #0.If (1) = 1. then 12¥(2) equals

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 4058591041 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 W IqYUI § U a5b Y= Y(X) 39 WPR & [ W@l Y-y = V" (0)(X—x) qU

e sie 3 R &7 51 8T%d —2—+1,¥7(x) 20 8. 561 (x. ) TP RIS

27 ()

fig 813l =18 @ 1212) &R & .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 28 Question Id : 4058591042 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Consider two circles C; : - -*_}'2 =25and G5 : (x— a)? +:L'E = 16, where o € (5. 9).

Let the angle between the two radui (one to each circle) drawn from one of the

o

: ; . . 6 | v

intersection points of Cyand C;be sin™' ‘ < ‘ If the length of common
|\ ;l

chord of C; and C; is P. then the value of ( aP)? equals
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 4058591042 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AT €y 2 +)?=25TUIC, : (x—a)? +)% =16, W81 a € (5.9) B, DT [G9R
BISIT | AT gl €, TUT €, & Wid=sa [dgsil o 9 us 3 it 71 & s

(TP g TR UH) & S DI sin ‘\'fgﬁ\%ltﬂﬁcl a1 ¢, Bt IHAFE offal
ﬁﬁaﬁﬁ%ﬁaﬂaﬁ;@ﬁuﬁwé -

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 29 Question Id : 4058591043 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let a line passing through the point (-1, 2, 3) intersect the lines

x=1 y=2 z+l . x+412 }’—2 z—1 -
L g e ik M (o, B,f]andf == at N(a, b, ¢).

-3 -2
platpt f)
(u+£’J+L}

Then. the value o equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 4058591043 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A g (-1, 2, 3) S o e o e Y A 2 2
M (0. B, y) TUTRET L::-T_:E:y—i_ Z—1 B N(a, b, mu?aﬂeﬁ’r%*l

—(“ B+1) eremd
(a+b+c)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 30 Question Id : 4058591044 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 3
The variance o~ of the data

X 0 1 5 6 10 12 17
Ji 3 2 3 2 6 3 3

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 4058591044 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. .f‘
x; 0 1 3 6 10 12 17
Ji 3 2 2 6 3 3

& TR o SRR &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Physics Section A

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 31 Question Id : 4058591045 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If mass is written as m = k ¥ G 12 112 then the value of P will be : (Constants

40585964
3

Online
Mandatory
20

20

80

Yes

0

1
40585964
Yes

null

have their usual meaning with & a dimensionless constant)

Options :

4058593321. 1/3

4058593322. 2



4058593323. —1/3

4058593324. 1/2

Question Number : 31 Question Id : 4058591045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e godH = Bl m =k f 612 K12 fo@r mar gl dl P 9H 8191 : (O Hadis
g1 grag 3 guifd & aut & ue famifagi= Fadie )

Options:

4058593321. 1/3

4058593322. 2

4058593323. —1/3

4058593324, 1/2

Question Number : 32 Question Id : 4058591046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Projectiles A and B are thrown at angles of 45° and 60° with vertical respectively
from top of a 400 m high tower. If their ranges and times of flight are same, the
ratio of their speeds of projection vy : v is:

[Take g =10 ms™]

Options:

4058593325.1:2



4058593326, 1:42

4058593327, +2 : 1

4058593328, 1:4/3

Question Number : 32 Question Id : 4058591046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&I T&TT A T B $i 400 Hl. 34 IR & R T Fafer fomn I oo 450
T 60° HI0T IR WA 358 M0 B | afs 3 R Y1 350 &I 99 81 a9
I W& 4711 BT U vy i vg B -

[f&are, g= 10 HA2]

Options:

4058593325.1:2

4058593326, 1:42

4058593327 v2:1

4058593328, 1:+/3

Question Number : 33 Question Id : 4058591047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three blocks A. B and C are pulled on a horizontal smooth surface by a force of
80N as shown in figure

A B ¢
T 7, F =80N
£ S

5 ke L 3k 2 kg >

The tensions Ty and T, in the string are respectively:
Options :

4058593329, 40N. 64N
4058593330, OUN. 80N
4058593331, 88N, 96N

4058593332, 80N, 100N

Question Number : 33 Question Id : 4058591047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e fRid o & 3aR. i e 4. BTUT C Bl 80N & TP 9 §RI TP [P
& a6 TR Ei e o1 g

A T 2 T C  F=soN

5 kg L 3ke .y 5

Sifal & q-ra 3 T, U1 T, &
Options :
4058593329, 40N. 64N

4058593330, 60N, 80N

4058593331, 88N, 96N



4058593332, SON, 100N

Question Number : 34 Question Id : 4058591048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A block of mass m 1s placed on a surface having vertical crossection given

by y=x>/ 4. If coefficient of friction is 0.5, the maximum height above the ground
at which block can be placed without slipping 1s:

Options :

4058593333. 1/4 m
4058593334, 1/6 m
4058593335. 1/2 m

4058593336. 1/3 m

Question Number : 34 Question Id : 4058591048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

m GOTHT & U e P (48 T FHANeR UR=sq y =x2/4 91d U dd IR I
T g | afe gefur ure 0.5 ¥ 1 gedidd & SR 98 Siftead Sams. ™
e 91 ftree & @1 & 9, §:

Options :

4058593333. 1/4 m

4058593334. 1/6 m



4058593335, 1/2 m

4058593336. 1/3 m

Question Number : 35 Question Id : 4058591049 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg 1s pushed up a surface inclined to horizontal at an angle of
60° by a force of 10 N parallel to the inclined surface as shown in figure. When the

block 1s pushed up by 10 m along nclined surface, the work done agaimst frictional
force 1s :

=10 m/s"]

10N

Options :

4058593337, 53 J

4058593338. 5 J

4058593339, 5 x 10° J

4058593340. 10 J

Question Number : 35 Question Id : 4058591049 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ui e & SUR 1 {631 So0uH & U 1[ed ol &fds H 60° & BI0 IR
%&%L{m A GHAA UR d Hdg D FHIR U 10 N D §ad gRI TR Bl 3R
<1 ST 8 | 5id e Bl SFd ad W 1041 SR B SR Wi 7131 g df g8

0 P faog o e §
([T 8. T¥dig @Rl g = 10 HIA2)

10N

Options :

4058593337. 543 J

4058593338. 5 J

4058593339, 5 % 10° J

4058593340. 10 J

Question Number : 36 Question Id : 4058591050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Escape velocity of a body from earth 1s 11.2 kn/s. If the radius of a planet be one-
third the radius of earth and mass be one-sixth that of earth. the escape velocity
trom the planet 1s :

Options :

4058593341, 4.2 kon/s



4058593342, 7.9 kan/s
4058593343. 8.4 lon/s

4058593344, 11.2 ks

Question Number : 36 Question Id : 4058591050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ged] I UR U a% & gard= af 11.2 fhHiA. 31 afe [t g &t s gadt
@I A5 1 U feIgTs Ul 5oaH Gl & SogHIH & U eal YT gl dl U8
R elrg a7 &:

Options :

4058593341, 4.2 kmn/s

4058593342. 7.9 km/s

4058593343. 8.4 fom/s

4058593344, 11.2 kan's

Question Number : 37 Question Id : 4058591051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A block of ice at —10°C 1s slowly heated and converted to steam at 100°C. Which
of the following curves represent the phenomenon qualitatively:

Options :



AN
2
o
=
L
S
k>
B >
4058593345, Heat supplied —
N
=
=
i
[
=M
g
[0
) >
4058593346. Ieat supplied —
AN
T
=
=
g
L
=N
=
i
B >
4058593347. Heat supplied —
AN
: _/
E
L
e
ks /
o T
4058593348, Heat supplied = 7

Question Number : 37 Question Id : 4058591051 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

~10°C R TP T D1 [T R &R 7 foa1 Sran 8 9uT 100°c W UG H
gRafdd SiaT 8 | 39 URgeT & Ue® o7 ¥ 5 a1 § v fasar man &:

Options :
A
T
ey
) rd
4058593345. a T T -
s
T
"
z 7
4058593346, oM TE
A
/I\
M
= P
4058593347. A T FH —

4058593348.



d9H T —

—

AT T —

N

Question Number : 38 Question Id : 4058591052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement for processes 4 & B shown in figure.

T

P

Options:

4058593349, PV = k for process B and 4.

4058593350, PV = k for process B and PV =k for process A.

pr-1

=} for process B and T = k for process A.
4058593351, 17

7Y

1 =k for process 4 and PV = k for process B.
4058593352, I/~



Question Number : 38 Question Id : 4058591052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TeiRid o o Ush 4 9 B & 1T Tl Sy 9ful

e

P

b

Options :

4058593349 B TUI A WhH & felU pr=k

4058593350 B UPH & AU P17 = k AYT.4A WehH & [lU PV =k

-

yy—1
pupa s L quiumH AP RU =k
4058593351, I’

- .*H
e 4 & foT "{ =k TUT I B & G Y=k
4058593352, P’

Question Number : 39 Question Id : 4058591053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

wd |

f \
If three moles of monoatomic gas | 7 == | is mixed with two moles of a diatomic
L 3)

- |, the value of adiabatic exponent y for the mixture is

s

gas | V=

Options :



4058593353. 1.40
4058593354, 1.52
4058593355. 1.75

4058593356. 1.35

Question Number : 39 Question Id : 4058591053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o U TRAD ] (72 | & e it o fepft oy 1 (527 Sl

Hiet & |y Ay fean Srar 8 of iy & e s <Rurdis ;IWQH &

Options :

4058593353. 1.40

4058593354, 1.52

4058593355, 1.75

4058593356. 1.35

Question Number : 40 Question Id : 4058591054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A particle of charge '—¢' and mass 'm' moves in a circle of radius ' around an
infinitely long line charge of linear charge density '+4". Then time period will be
given as :

(Consider k as Coulomb's constant)

Options :
I'=2ar I'I fﬂ
4058593357. \ 2kiq
72 = 4;:2:”!_3
4058593358, 2kAq

T 1 [2kAq
4058593359, 27\ m

—
1 | m

"= — ]
4058593360, 27 \2kiq

Question Number : 40 Question Id : 4058591054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

_g' 3TAY TYT '’ GOOH D1 Ueh B[ '+ T@IY 192 U o Ueh 3{d Tra
AT 19 & gRa: v A1 & U g § 71fd =l o | 99 SHPT A4 DId
R

(k D1 S| FHadie aH$)
Options:
|
T=2zr fﬂ
4058593357. \2k2q

.
72— d7°m 3

e il
4058593358. 2kAq




|
T I Iliﬁ./uf

4058593359, 27\ m

—
1l | m

I=—/|—
4058593360, 27 \2kiq

Question Number : 41 Question Id : 4058591055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a potential difference 7 1s applied across a wire of resistance R, it dissipates
energy at a rate 7. If the wire 13 cut into two halves and these halves are connected
mutually parallel across the same supply, the energy dissipation rate will become:

Options:

4058593361. 2%
4058593362. 1/2W
4058593363. 4

4058593364. 1/41¥

Question Number : 41 Question Id : 4058591055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g R UfcRIY & U dR & URa: fqHaraR v & ordl & af w eR 9§ Yfddem
Bl 81 3R AR &1 I 31§ YT § SH1eT AU 3R 39 31l YT &l TRER IR
S T T B T STYf & UIRa: SIST Sl § ol Qfakierd g -

Options :

4058593361. 2%



4058593362. 1/21F

4058593363. 4%

4058593364. 1/41%

Question Number : 42 Question Id : 4058591056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

List I List IT
s = 1 ,
A |Gauss's law of magnetostatics L i E-da= F J pdV

i

B. |Faraday's law of electro magnetic induction| IL #I B -da=0

. d e~ =
C. |Ampere's law I1I. I E-dl = T{:-[ B-da
di

D. |Gauss's law of electrostatics IV. (ﬁ B . d,-’ = ‘uﬂf

Choose the correct answer from the options given below:

Options :

4058593365, A-IV. B-II. C-III, D-I

4058593366, A-IL. B-III. C-IV. D-I

4058593367, A-I. B-III. C-IV. D-II

4058593368, A-III. B-IV. C-I. D-II



Question Number : 42 Question Id : 4058591056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 9=l 11 9 e Sifor

A1 1 I
A [dseRfd e sias | [QE-d,=—[pdV
F

B |fagyd greaa kv &1 s Fam| 1 [ $B-d, =0

C. |ufmR &1 e IH.IﬁwﬁnifIﬂ-J;
D[RRI srigu e a1V E[;B-J!:,uﬂf
A= feu e faeedl O 9 Iet 3w T

Options:

4058593365, A-IV. B-II. C-III. D-I

4058593366, A-1L. B-III. C-IV. D-I

4058593367, A-I. B-III. C-IV. D-II

4058593368, A-IIL. B-IV. C-I. D-II

Question Number : 43 Question Id : 4058591057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An alternating voltage F{¢) = 220 sin 100 nit volt 15 applied to a purely resistive
load of 50 Q. The time taken for the current to rise from half of the peak value to
the peak value 1s:

Options :

4058593369. 3.3 ms



4058593370. 2.2 ms
4058593371. 7.2 ms

4058593372. 5 ms
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Instruction Time: 0
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U YAIGd! diecd F(r) = 220 sin 100 7t AIe€ BI 50 Q@ P G WeRIYS dls 4
SIST AT 81 YRT & 3 FARe 7 ¥ ARk 9 9% dg4 § a 9Hg &

Options :

4058593369. 3.3 ms

4058593370. 2.2 ms

4058593371. 7.2 ms

4058593372. 5 ms
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Instruction Time: 0
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If the total energy transferred to a surface in time t is 6.48x10°J, then the
magnitude of the total momentum delivered to this surface for complete absorption

will be:
Options:

4058593373.



2.16x107 kg mis

_1 ;
4058593374, 4.32x1077 kg m/s

4058593375, 1.58+107 kg m/s

4058593376, 2-46% 107 kg m/s
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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afe « U H T JF &1 RIMIRA Bl FHoll 6.48x10° Id & al GUI S[aINl &
fore 59 gz 1 o T o Sam B:

Options :

i ;
4058593373, 2:16%107 kg mls

_1 ;
4058593374, 4.32x107 kg m/s

4058593375, 1.58+107 kg m/s

g ;
4058593376, 2-46%107 kg m/s
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Instruction Time: 0
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A beam of unpolarised light of ntensity I, 1s passed through a polaroid A4 and then

through another polaroid B which is oriented so that its principal plane makes an
angle of 45° relative to that of 4. The intensity of emergent light is:

Options :

4058593377. 1o

4058593378, 1o/2

4058593379, 1o/4

4058593380, 1o/8
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I, digal & U Hsffad YT US Pl U UITRISS 4 9 IRI offdl § aul 59

1% GER UIeRI12S B 9 TIRT W] § [orgeh] T T 4 & W dd & dIuef 45°
1 DI &1 & | FIsepTRId e 1 el &:

Options :

4058593377. 1o

4058593378, {o/2

4058593379, 1o/4

4058593380, {o/8

Question Number : 46 Question Id : 4058591060 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For the photoelectric effect. the maximum kinetic energy (E}) of the

photoelectrons is plotted against the frequency (v) of the incident photons as
shown in figure. The slope of the graph gives

o

b

Options :

4058593381. Planck's constant

4058593382, Charge of electron
4058593383, Work function of the metal

4058593384, Ratio of Planck's constant to electric charge
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Instruction Time : 0
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UhTRIdegd WHId & foTu UaiRid o & uepr soideHl @l siftaad T1ids ol
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Options :

4058593381, Wid HId®

4058593382, SCIFEI T AT

4058503383, Y14 P11 B

4058593384, I [HUdIP dyl dgdd IR PT 3AUId

Question Number : 47 Question Id : 4058591061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a nuclear fission reaction of an isotope of mass M. three similar daughter nuclei

of same mass are formed. The speed of a daughter nuclei in terms of mass defect
AM will be :

Options :

A .-‘I.:.i"a:'2
4058593385, 3

¢ /Erj.lw
4058593386, | M

|3fﬁ.M
”
4058593387. \’ M

DeAM
4058593388. ‘»/ M
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M SSHA & U YIS (IM3HIe) S AN fq@us siftifdbar J diF
U JHH g H & dF Bi¢ (Fdfd) A1 U 8id 8 | SouqM  &ffd (AM) &
el H U BIe (Hddl) TIHS $f =rd gt -

Options :

A .-’I.d"c'2
4058593385, 3

/23&4
’
4058593386, | M

|3fi"n."’f
L'\’—
4058593387. M

[2cAM
4058593388.J M

Question Number : 48 Question Id : 4058591062 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electron revolving in n™ Bohr orbit has magnetic moment p,,. If p o n*, the

value of x 1s

Options :

4058593389. 0

4058593390. 1

| R}

4058593391.



4058593392. 3

Question Number : 48 Question Id : 4058591062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

nd] g% B&T T gHd §U UD Saiae D1 8 g 31e0l p, 81 A4 1, o’ Al x
BT &

Options :

4058593389. 0

4058593390. 1

| )

4058593391.

4058593392. 3
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~ ~ 1.5 kL2
1] LAYy

D, D,
|51 == (e} [ 5] R, % 2540

3

In the given circuit, the voltage across load resistance (R} ) 1s:
Options :

4058593393. 8.50 7



4058593394, 8.75 ¥

4058593395, 9.00 7

4058593396. 14.00 I/

Question Number : 49 Question Id : 4058591063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1.5 kL2

D, D,
5 —— (Ge) (i) R, g 25k
s
TS IR (Ry) ¥ A dleed &

Options:

4058593393. 8.50 I

4058593394. 8.75 IV

4058593395. 9.00 7

4058593396. 14.00 I

Question Number : 50 Question Id : 4058591064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



If 50 Vermer divisions are equal to 49 main scale divisions of a traveling
microscope and one smallest reading of main scale 1s 0.5 mm, the Vernier constant
of traveling microscope 1s

Options :

4058593397. 0.1 mm
4058593398, 0.01 ¢m
4058593399, 0.01 mm

4058593400. 0.1 em

Question Number : 50 Question Id : 4058591064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i Fierd Gerasit af-1ax & 50 YT &7 11 30 UHH & 49 U & §3aR 8
giﬂﬂ@ﬁﬂﬁﬁ[ﬁwdﬂ qISai 0.5 B € | 90 geaaei o1 o Fadie

Options :

4058593397. 0.1 mm
4058593398, 0.01 ¢m
4058593399, 0.01 mm

4058593400. 0.1 em
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Question Number : 51 Question Id : 4058591065 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A vector has magnitude same as that of 4 = 3 + 4; and 1s parallel to

B =4i + 3 - The x and y components of this vector in first quadrant are x and 3

respectively where x =
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TG AR PTIRAT A=3i +4] FIRAV S IIE IR I B =4/ +3] &
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X =
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Question Number : 52 Question Id : 4058591066 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. - . ) 7 .
Two dises of moment of inertia I; =4 kg m~ and I, = 2 kg m~. about their central

axes & normal to their planes, rotating with angular speeds 10 rad/s & 4 rad/s
respectively are brought into contact face to face with their axes of rotation
coincident. The loss in kinetic energy of the system in the process is i
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1

Question Number : 52 Question Id : 4058591066 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
30 3efl & IR TUT 30 ddl & aredd dod ATl 7, =4 [ di2 g1, =
2 fopom 12 are! < i U 10 rad/s TUT 4 rad/s B HIUIG 1 4 GH @1
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Question Number : 53 Question Id : 4058591067 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A big drop 1s formed by coalescing 1000 small identical drops of water. If E| be
the total surface energy of 1000 small drops of water and E, be the surface energy
of single big drop of water, then E; : E; 1s x : 1 where x =
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Ol &1 U FHMH 1000 481 I [0 U 991 88 &5 il 5| 3G 1000 BT
a1 &1 48l B Fd Y Sl £, aUT IF DI 901 g8 @1 Hal J§ FHoll £, 8l a6
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: 3 e, iz g ri ey 5
A point source 1s emitting sound waves of intensity 16x10 8 Wm2 at the origin.
The difference in mtensity (magnitude only) at two points located at a distances of

2m and 4m from the origin respectively will be < 1078 W=,
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Question Number : 54 Question Id : 4058591068 Question Type : SA Calculator : None
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Td g R U@ 165 Hd 16x107% w2 Tlsicl &I @ a1 Sad Dl 61 qa
fag I HURE: 2m TYUT 4m BT G W UG fag31f W I digdrsii & 3w &1
g < 1078 W2 G
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Two identical charged spheres are suspended by strings of equal lengths. The
strings make an angle of 37° with each other. When suspended in a liquud of

density 0.7 g/em”. the angle remains same. If density of material of the sphere is

1.4 glem’, the dielectric constant of the liquid is [lun 3= 1]
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31 U U 1A el &l THH THTs ®F il @ dedm 11 g | Sikaf
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Two resistance of 100 & and 200 Q are connected in series with a battery of 4 77
and negligible internal resistance . A voltmeter is used to measure voltage across

100 € resistance, which gives reading as 1 7. The resistance of voltmeter must be
0
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The current of SA flows in a square loop of sides 1 m 1s placed in air. The magnetic
field at the centre of the loop is y./2 x1077 7 - The value of X is
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g H T 1 1 Yol & Ue aioR 9 & yaTed URT154 81 99 & 35 W
GED &y 2«10 7€ XPTHA gl
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A power transmission line feeds mput power at 2.3kV to a step down transtormer
with its primary winding having 3000 turns. The output power is delivered at 230V
by the transformer. The current in the primary of the transformer 1s 54 and its
efficiency 1s 90%. The winding of transformer 1s made of copper. The output
current of transformer is A
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In an experiment to measure the focal length (f) of a convex lens, the magnitude of
object distance (x) and the image distance (v) are measured with reference to the
tocal point of the lens. The y-x plot is shown in figure.

The focal length of the lens is cim.

0 T Y

n ¥

X |:L'.IH':| —%
10 20 30 40
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A simple pendulum 1s placed at a place where its distance from the earth’s surface
is equal to the radius of the earth. If the length of the string is 4m, then the time

period of small oscillations will be 5. [take g =12 ms™]
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Question Number : 61 Question Id : 4058591075 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a substance 'A' dissolves in solution of a mixture of 'B' and 'C' with their
respective number of moles as n,. ng and n- Mole fraction of C in the solution is

Options :

I'IH
4058593411, "a T g

40585966
5

Online
Mandatory
20

20

80

Yes

0

1
40585966
Yes

null



['I{

4058593412, Ma * 0 X 0¢

l'l{_.

4058593413, "a T g T ¢

“E'

4058593414, "a ~ Mg ¢

Question Number : 61 Question Id : 4058591075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g¢ I uard 'A', B' 3R 'C' & [y & [daa O gadl & SR 39! Al &l
T HHT ny. ng ﬁ?xlcﬁ.ﬁ%ﬂﬂqﬁCWﬁﬂ 3T

Options:

I'IH
4058593411, "a T g

4058593412, Ma ¥ 0 X ¢

4058593413, "a TMp T ¢

4058593414, "a ~ Mg "¢
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement - I: Since Fluorine is more electronegative than nitrogen, the net dipole
moment of NF5 is greater than NHa.

Statement - II: In NH;. the orbital dipole due to lone pair and the dipole moment
of NH bonds are i opposite direction. but in NF; the orbital dipole due to lone

pair and dipole moments of N-F bonds are in same direction.
In the light of the above statements. choose the most appropriate from the options
given below:

Options:
4058593415. Both Statement [ and Statement I are true.
4058593416. Both Statement I and Statement IT are false.

4058593417. Statement [ is true but Statement II 1s false,

4058593418. Statement I 15 false but Statement I 1s true.
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Options :

4058593415, PUT 1 AR YT 11 3 T B

4058593416, U1 AR BYF 11 HI ST &1



4058593417, PUT1 I € IR PYT 11 IHI B

4058503418, PUT I A § g PUF I FT €
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The molecule / ion with square pyramidal shape 18

Options :

4058593419, PF5
4058593420, BIFs

4058593421, PCls

4058593422, [Ni(CN) 4]
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arf FRATST SR arar 310)/ 39 &

Options :

4058593419, PF5

4058593420, B1F;5



4058593421, PCls

-
L=

4058593422, [N1(CN),]
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The solution from the following with highest depression in freezing point/lowest
freezing point 1s

Options :

4058593423, 180 g of acetic acid dissolved i water
4058593424, 180 g of glucose dissolved in water
4058593425, 180 g of benzoic acid dissolved in benzene

4058593426, 180 g of acetic acid dissolved i benzene
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Correct Marks : 4 Wrong Marks : 1
Fr=tfaRed o 9§ S=ad fgrie sa-e-/Heay fghid ardr [daa &

Options :

4058593423, 9101 H Tl UHIC® 33T & 180 ¢ AT

4058593424.



STl H €Yol T & 180 g dTell

4058593425, Sl H Yl Sllgd I & 180 g Tell

4058593426, SoI- H gl UHIfed 3 & 180 ¢ aTal
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Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Reduction potential of 1ons are given below:
ClO; I{?n__L HI“(-]J;

E°=1.19V E°=1.65V E°=1.74V
The correct order of their oxidising power 1s :
Options :
4058593427, €104 =10, > BrO,

4058593428, 104 > BrO, >ClO,

4058593429, BrO, =10, > ClO,

4058593430, BrO4 > €104 >10,

Question Number : 65 Question Id : 4058591079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TGl & Y=g faua A U e &

ClO;, 10; BrO,
E°=1.19V E°=1.65V E°=1.74V

3P SUATID T3 &1 9el 9 &
Options :

4058593427, €104 10, >BrO,

4058593428, 104 > BrO, >CIO,

4058593429, B0, >10, > ClO,

4058593430, B0y > Cl10, >10,

Question Number : 66 Question Id : 4058591080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement - I: Along the period. the chemical reactivity of the elements gradually
increases from group 1 to group 18.

Statement - IT: The nature of oxides formed by group 1 elements 1s basic while
that of group 17 elements 1s acidic.

In the light of the above statements. choose the most appropriate from the options
given below:

Options:
4058593431. Both Statement I and Statement IT are True
4058593432. Both Statement I and Statement II are False

4058593433. Statement [ 1s True But Statement II iz False

4058593434. Statement [ 1s False but statement I 1s true



Question Number : 66 Question Id : 4058591080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 gl Py Gy e E:

HYF - I: [Bl 31aq B, Tl o e sfifcrariiear dik-adR g 1 9
g 18 Hagdl B

HYF - I1: 945 1 ddl I & a5 S| B UPpld &R Bkl & Jai 99g 17
ddl & ATaTgs! @1 Heid SR gidl 6

SR GU U Bl & deu I, T U fawed! & ¥ 981 3R gHu|

Options :

4058593431, PUA T AR HYF I A TA g

4058593432, BYT 1 AR YT 11 aH! STT B

4058593433, DU 1 T 8 IR DY 11 3T B

4058593434, PU 1 ST € TR FYF 11 6 &

Question Number : 67 Question Id : 4058591081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements about the hydrides of group 15 elements.

A, The stability of the hydrides decreases in the order NH; > PH; > AsH; >
SbH; > BiHj;.

B. The reducing ability of the hydride mncreases in the order NH; < PH; < AsH,
< SbH; < BiHa.

C. Among the hydrides. NH; 1s strong reducing agent while BiH; 1s mild

reducing agent.
D. The basicity of the hydrides increases in the order NH; <PH; < AsH; <

SbH; < BiH;.
Choose the most appropriate trom the options given below:

Options :

4058593435, A and B only
4058593436, B and C only
4058593437, € and D only

4058593438, A and D only

Question Number : 67 Question Id : 4058591081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IIg 15 dcdl & §Igslgsi & gR 1 9gl Y- gHT:

A. TIESISS! o WIfd@ FH=iRad %9 T gedl 8 NH; > PH, > AsH, > SbH;
> BiHs,

B. BISSISS! B YA &Fdl HEfiRad o U ggdl 6: NH; < PH; < AsH;
< SbH; < BiH;.

C. BIEgIss! H. NH; US Wad Uddd ¢ 9aid BiH, U 43 SHUaE® 5 |

D. I3 SIS I &Hal (=IRad o8 T §¢dl 8: NH; < PH; < AsH; < SbH; <

BiH;.

12 g g Riaredl 9 Wt SR TR

Options:




4058593435, ad A 3R B

4058593436, BT B R C

4058593437, Pad C IR D

4058593438, AT A IR D

Question Number : 68 Question Id : 4058591082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other 18
labelled as Reason R:
Assertion A: H,Te 1s more acidic than H,S.

Reason R: Bond dissociation enthalpy of H,Te 1s lower than H,S.

In the light of the above statements. choose the meost appropriate from the options
given below:

Options :

4058593439, Both A and R are true and R 1s the correct explanation of A.

4058593440, Both A and R are true but R 1s NOT the correct explanation of A.

4058593441. A is true but R 1 false.

4058593442. A is false but R 1s true.

Question Number : 68 Question Id : 4058591082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

%ﬁﬁ?ﬁmﬁnﬂt{%l TS & HHYUF A 3R G DI HRUI R §RI 191 T[T

aifirma A H,Te. H,S ¥ 3{f¥/& 3i%i1g 3
®RUTR: H,Te B a4 00 T H,S T &
SR [ U YAl & deu & ey ool 4 9 98] St gHE:

Options :

4058593439, A 3R R &l I & 3R R. A P Tel SO B |

4058593440, A MR R &I A § HR R, A | U5 ARAT 81 & |

4058593441, AT E TR R SHA T

4058593442, A AT IR G|

Question Number : 69 Question Id : 4058591083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Alkaline oxidative fusion of MnO, gives "A" which on electrolytic oxidation in

alkaline solution produces B. A and B respectively are

Options :

4058593443, Mn, 0, and MnOy;

4058593444, MO}~ and Mn,0,

4058593445, MnO;~ and MnO,

4058593446, MM07 and MnO;



Question Number : 69 Question Id : 4058591083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MnO, P &R® 1 IY=R e "A" Sl & Wl &R 1 faeg ¥ qed-sqge-i
SU9- U B gdT ¢l A 3R B HA: T
Options :

4058593443, M0 3R MnO;

4058593444, MnU} 3R Mn,0,

4058593445, MO}~ SR MO,

4058593446, Mn207 SR MnOy

Question Number : 70 Question Id : 4058591084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The orange colour of K,Cr,05 and purple colour of KMnO, 1s due to

Options:

4058593447. d — d transitions m both

4058593448, @ — d transitions in K,Cr,05 and charge transfer transitions m KMnO,.

4058593449 ¢ — d transitions in KMnO, and charge transfer transitions in K,Cr,05.



4058593450, Charge transter transition in both.

Question Number : 70 Question Id : 4058591084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
K,Cr,0, @1 AR T HR KMnO,, BT ST 1 il 6:

Options :

4058593447, &Il H d — d THHUN & HIUI

K,Cr,0, 8 d — d GBI & SR 3R KMnO, H HAR IR0 HhHU o

4058593448, PRUI

KMnO, § d — d §&HUI & SR 3R K,Cr,0, § TG RIFIRU HHHUI &
4058593449, PRI

4058593450, &I H MY RO SHHU & BRI

Question Number : 71 Question Id : 4058591085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The coordination geometry around the manganese in decacarbonyldimanganese (0)
18

Options :

4058593451, Octahedral

4058593452, Square pyramidal



4058593453, Trigonal bipyramidal

4058593454, Square planar

Question Number : 71 Question Id : 4058591085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SPIBIEI ST (0) T HIHIW & IR 3R JudegareH siifd gidl &

Options:

4058593451, HFBAHY

4058593452, a7l fUfia!

4058593453, IABIUNY fg-RTS

4058593454, I71 GadeN

Question Number : 72 Question Id : 4058591086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following purification methods is based on the principle of
"Solubility" in two different solvents?

Options :

4058593455, Sublimation

4058593456. Distillation



4058593457. Differential Extraction

4058593458, Column Chromatography

Question Number : 72 Question Id : 4058591086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

et wieF faftl 8 9 o g1 g [dams! § doaa & feid
ST 22

Options :

4058593455, 3 H9TdT

4058593456. HIHdA

4058593457, faudl fsareu

4058593458, dUICITED

Question Number : 73 Question Id : 4058591087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct stability order of carbocations 1s

Options :
" 4 §
CH, >CH,-CH, >CH, -CH >(CH,) C*

4058593459. CH,

4058593460.



| . + ) §
CH, >(CH,), CH>CH, - CH, >(CH,),C

5 } 2 h T : l1 l.'
4058593461 {[.’H=_].1( ;,[( H:JZ( H>CH,-CH,>CH,

f ; L .
4058593462, (€13), €7 > CIly ~CII, > (CI1, ), CI > CI,

Question Number : 73 Question Id : 4058591087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
BIEAYATTA] &b VI BT 98l H &
Options :
§ 4 §
CH,>CH,-CH, >CH, -CH >(CH,) C*

4058593459, CH,

I i ) . |
4058593460, C 113 > (CH; ), > CH, = CH, > (CH; ), ¢

Lo+, 4 . .
4058593461, (CH3);€>(CH;), CH>CH, - CH, >CH,

4058503462, (CT1),€* > €Iy =CIL > (€11, ), €t > €y

Question Number : 74 Question Id : 4058591088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IUPAC name of following compound 1s :
CH,;~-CH-CH, -CN
NH,

Options :

4058593463, S-Aminopropanenitrile

4058593464. 3-Ammobutanenitrile
4058593465. 2-Aminobutanenitrile

4058593466, ~-Aminopentanenitrile

Question Number : 74 Question Id : 4058591088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

fFrefofed 2 @1 e g de . Am e

CH,-CH-CH, -CN

NH,
Options:
4058593463, - c
4058593464, 3- ﬁ
4058593465, 2-UAMIEICTAIZCIET

-~

4058593466.



Question Number : 75 Question Id : 4058591089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement - I: High concentration of strong nucleophilic reagent with secondary

alkyl halides which do not have bulky substituents will follow SKE mechanism.
Statement - II: A secondary alkyl halide when treated with a large excess of
ethanol follows 53,;1 mechanism.

In the light of the above statements. choose the most appropriate trom the options
given below:

Options :

4058593467. Both Statement I and Statement II are true.
4058593468. Both Statement [ and Statement I are false.
4058593469. Statement [ 1s true but Statement II 1s false.

4058593470. Statement I is false but Statement II is true,

Question Number : 75 Question Id : 4058591089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

4 al Py fqu U &

HY - I i Ufewa gags! foms @ ufoeurd 78t e €. & 91y ved
D! HUPHS DI I Higdl Sy Ibariafdl &1 gre- Sl g

PYF - I1: Tl Gdioe Ufehd sass & oid T & A1fYead & g7y
ST (g1 ST 3, 49 Sy foparfafe gl avdl g

SR feu U FuHl & e 4, A U faeedl I 9 98t 3w g-u|

Options :

4058593467, PUA 1 AR YT 11 & T |



4058593468, DYUT [ 3R HYT 11 A TT B

4058593469, PUT 1 T T TR HY 11 ST C|

4058593470, PU 1 ST € TR HYF 11 T E|

Question Number : 76 Question Id : 4058591090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Salicylaldehyde 1s synthesized from phenol. when reacted with

Options :

4058593471, €O2. NaOH

0

,/U\ | . NaOH

4058593472. H Cl

4058593473, HCCl3. NaOH

4058593474, CCly. NaOH

Question Number : 76 Question Id : 4058591090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IffyeiterEs & Wi 3 9xaid fhar orar 8. W Fefeiad & gy
3ifferar & S &

Options:



4058593471, €02 NaOH

0

/IJ\ . NaOH

4058593472. H Cl

4058593473, HCCl3. NaOH

4058593474, CCly. NaOH

Question Number : 77 Question Id : 4058591091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Products A and B formed in the following set of reactions are

CH,
) B,Hg H' /H,0 .
ah Ha(}, NaOH{ag} &
Options :
4058593475. : : :(}I
CI1,0H
Segtteod
4058593476. OH
I‘\I ) q @
4058593477. OH

4058593478.



CH,OH CH,OH

OH

Question Number : 77 Question Id : 4058591091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sfftifspanad & Fefafad =g # &1 SUE A 3R B &:

CH,
b
B.< B)Hg H'/HO
H405, NaOH({ag)
Options:
O -,
4058593475. (OH
CH,OH
. C|/ .
4058593476. OH
CIL,
4058593477. OH
CH,OH CH,OH
-% ) U q
4058593478. OH

Question Number : 78 Question Id : 4058591092 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

m-chlorobenzaldehyde on treatment with 50% KOH solution yields

Options :
OI1 +|::|'t
@cuc@
4058593479. (I Cl
0 0
I
C-1I1I C-H
+
4058593480. OH OH
CO0®
OO,
" 2
4058593481, (Ul Cl
Con” CH,OH

2,

4058593482. OH OH

Question Number : 78 Question Id : 4058591092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el FaRIEIeS 8188 50% KOH [daa= & 91y SUd9R ¥ &dl &:

Options :

4058593479.



OII O

Il
cu—c@
Cl

Cl

0 0

||

C-1II C-11

+
4058593480. OH OH
Co0®
" 2

4058593481,  ClI Cl

; Co0"” : CH,OH
+
OH

4058593482. OH

Question Number : 79 Question Id : 4058591093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The products A and B formed in the following reaction scheme are respectively

1) con lLNU:; AC o 11250_1
323-333K il N:INL'JE\HFLE?Z?--E?RK
1) Sn/ HCI 5 A 11) Phenol s B

Options:

4058593483.



NH, NH,
OH

] NO, HO

4058593484,
NI,
& o)
4058593485, ’
NH,
4058593486. OH

Question Number : 79 Question Id : 4058591093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfoiaa sififeor 9 & &9 IdTe A 3R B HHE: &

i) W HNO5/ ® HoSO,

323-333K i) NaNO5. HCL 273-278 K
@ ii) 5o/ HCL s A i) WF B

Options :

4058593483. OH




Cl NO, HO

4058593484,
NI,
& o)
4058593485, ’
NH,
4058593486 OH

Question Number : 80 Question Id : 4058591094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B formed in the following reactions are:

Cr0,Cl, +4NaOH — A + 2NaCl +2H,0
A +2HCl +2H,0, — B + 3H,0

Options :
4058593487, A=NayCr,07. B = Cr0;
4058593488, A=NayC1;,04. B =CrO,

4058593489, 4= NayC1;07. B = C1O;

4058593490, A= NayCrO,. B = CrO;



Question Number : 80 Question Id : 4058591094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i sfifhars o 97 A IR B &

Cr0,Cl, +4NaOH — A + 2NaCl + 2H,0
A +2HCl+2H,0, — B + 3H,0
Options :

4058593487, A= NapCr07. B = (105

4058593488, A= NaCry04. B =CrO,

4058593489, 4= NayCr07. B = CrO;

4058593490, 4= NayCrOy4. B = €105
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Question Number : 81 Question Id : 4058591095 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Number of spectral lines obtamned in He™ spectra, when an electron makes
transition from fifth excited state to first excited state will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 81 Question Id : 4058591095 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

He™ & WagH H, 5@ U Soiac [ Yiddl Sierd Sl ¥ §uH Idford sawil o
PO AT &, G VT WA et et e gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 82 Question Id : 4058591096 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Two reactions are given below:

1
e ik la o= R L]/
-IL[EJ i 2[12[g| ﬁf:.:{_]_;‘ﬂ. AH R22 kJ/mol

2 +iﬂ = C0O, ., AH°==110kJ/mol

(%) + gl izl

Then enthalpy change for following reaction 3¢, +Fe, 05 — 2Fe, +3C0, , is
kJ/mol.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 4058591096 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

= <l stfferard § 75 ¢

= Fey0y . AH=~822 kJ/mol

: 3
M e o
21 ;.[h_] ¢ ; “_’[_gl

C +lﬂ‘ = C0O, .. AH°==110kJ/mol

(s) o " 2g) (g)

s FfaRad eififchar & g 3C ) + Fe,04,) — 2Fe +3C0 ) T gRadH
kJ/mol Eﬁ?ﬂ %’I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 83 Question Id : 4058591097 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The pH of an aqueous solution contaming 1M benzoic acid (pK, =4.20) and 1M

sodium benzoate 15 4.5. The volume of benzoic acid solution in 300 mL of this
buffer solution is mL. (given : log 2=0.3)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 4058591097 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U Wi faeaH fo 1M SIS 35 (pK, = 4.20) 3R 1M FIfSTH §=11Ue &,

T pH 4.5 81 38 SR 900 & 300 mL H §-A15® 3{% [0 1 S
mL &1 {ﬁ“&nwé :log 2=10.3)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 84 Question Id : 4058591098 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Total number of species from the following which can undergo disproportionation
reaction is

H,0,,Cl0;, B, Cl,, Ag,Cu*! F,,NO,, K*
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 4058591098 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frefafad & O 3 wifier 1 Se fome! srmrura sififar g aedi @,
&

H,0,,Cl03, P,.Cl,, Ag,Cu*' F,,NO,,K*

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 4058591099 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



NO, required for a reaction is produced by decomposition of N;Os mn CCl, as by

equation
ANy N T O

1

The mitial concetration. of N5Os 1s 3 mol L™ and 1t 1s 2.75 mol L1 after 30

minutes.

-3 1

The rate of formation of NO, is x x 107 mol L™ min~!. value of x is

(nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 4058591099 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Rrfifa ofif & SR, CCl, 7 N,0, & fies @ g ot & R
3T NO, B T a1 STl &:

ZNEDSKE} . 43:02(2} - DE{E“]

N,0: 1 3RfU® Figdl 3 mol L1 8 3R 30 e & &1¢ 2.75 mol L1 81 NO,

%mﬁmlﬁ:ﬁﬁaﬂx <1073 mol L™ min™ %’I x @[ HH %I
(Frepreds i)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Question Number : 86 Question Id : 4058591100 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Number of complexes which show optical 1somerism among the following 1s

cis—[Cr{o:{nglz]E_. [Co(e11]3]3_. ciﬁ—[Pt{ex1}2C13]E_. cis—{Co(en),Cl,]

trans—[Pt(en),Cl,]°™. trans—[Cr(ox),CL,]>~
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Correct Marks : 4 Wrong Marks : 1

ffaRad o 9 o1 IHIagadr g2ii- ard Hapal Bl S H
g - [{11'{01}2(313]3_. [CD{EII}E]E_. g - {Pt[ennglz]j_. - [Co(en),Cl,]".

[ [Pt{en}zi.‘lz]z_. o - [C1'{D_‘-:}EC13]3_
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 87 Question Id : 4058591101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Number. of geometrical isomers possible for the given structure 18/are
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Evaluation Required For SA : Yes
Show Word Count : Yes
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Question Number : 87 Question Id : 4058591101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
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Question Number : 88 Question Id : 4058591102 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

2-chlorobutane + Cl, — C4HgCl, (1somers)

Total number of optically active 1somers shown by C4HgCl,. obtamned in the above
reaction 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Possible Answers :
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Answers Type : Equal
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Question Number : 89 Question Id : 4058591103 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The total number of correct statements. regarding the nucleic acids 1s

A. RNA is regarded as the reserve of genetic information

B. DNA molecule self-duplicates during cell division

C. DNA synthesizes proteins in the cell

D. The message for the synthesis of particular proteins is present in DNA
E. Identical DNA strands are transferred to daughter cells.

Response Type : Numeric
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Question Number : 90 Question Id : 4058591104 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Number of metal ions characterized by flame test among the following 1s

St Ba®t Ca', Cu?t, Znt, Co?, Fe?
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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